%%%% This is to determine the titration procedure in the TD task
'--------------------------------------------------------------------------
' Instance Declarations
'--------------------------------------------------------------------------
Dim Fix As Slide
Dim Fix_State As SlideState
Dim Fix_SlideText As SlideText
Dim Procedure1 As Procedure
Dim ListOne As List
Dim Ending As Slide
Dim Ending_State As SlideState
Dim Instructions As TextDisplay
Dim InstructionsEchoClients As EchoClientCollection
Dim Choice As Slide
Dim ChoiceEchoClients As EchoClientCollection
Dim Choice_State As SlideState
Dim Choice_SlideText As SlideText
Dim Choice_SlideImage As SlideImage
Dim outcome As Slide
Dim outcome_State As SlideState
Dim outcome_SlideText As SlideText
Dim outcome_SlideImage As SlideImage
Dim ListProc As List
Dim One As Procedure
Dim Two As Procedure
Dim Three As Procedure
Dim Four As Procedure
Dim Five As Procedure
Dim Six As Procedure
Dim ListTwo As List
Dim TrialProc2 As Procedure
Dim ListThree As List
Dim TrialProc3 As Procedure
Dim ListFour As List
Dim TrialProc4 As Procedure
Dim ListFive As List
Dim TrialProc5 As Procedure
Dim ListSix As List
Dim TrialProc6 As Procedure
'--------------------------------------------------------------------------
' User Script
'--------------------------------------------------------------------------
dim impulsive as integer
dim firstimpulsiveflag as integer
dim secondimpulsiveflag as integer
dim thirdimpulsiveflag as integer
	'''''''''''''''''''''''''''''''''''''''''''''
	' InLine - CalculateOffer BEGIN
	'''''''''''''''''''''''''''''''''''''''''''''
	Mouse.ShowCursor False
dim trialn as integer
dim offer1 as string
offer1 = 0
trialn= c.GetAttrib ("trialblock") 

	if trialn = 1 then offer1 = 20

	if trialn = 2  then 
		if impulsive = 1 then
		offer1 = 10
		firstimpulsiveflag = 1
		end if
		
		if impulsive = 0 then 
		offer1= 30
		firstimpulsiveflag= 0
	    end if
	end if

	if trialn = 3 then
		if firstimpulsiveflag = 1 then
			if impulsive = 1 then 
			offer1 = 5
			secondimpulsiveflag= 1
			end if
            
			if impulsive = 0 then
		    offer1 = 15
			secondimpulsiveflag = 0
		    end if
		end if

		if firstimpulsiveflag = 0 then
			if impulsive = 1 then
			offer1= 25
			secondimpulsiveflag = 1
			end if
			if impulsive = 0 then
			offer1 = 35
			secondimpulsiveflag = 0
		 	end if
		end if
	end if
			
	if trialn = 4 then
		if firstimpulsiveflag = 1 then
			if secondimpulsiveflag = 1 then
				if impulsive = 1 then 
				offer1 = 2.5
				thirdimpulsiveflag= 1
			    end if
				
				if impulsive = 0 then
				offer1 = 7.5
				thirdimpulsiveflag = 0 
				end if
			end if

	       if secondimpulsiveflag = 0 then
				if impulsive = 1 then 
				offer1 = 12.5
				thirdimpulsiveflag = 1
			    end if
				
				if impulsive = 0 then
				offer1 = 17.5
				thirdimpulsiveflag = 0 
				end if
			end if
         end if

		if firstimpulsiveflag = 0 then
			if secondimpulsiveflag = 1 then
				if impulsive = 1 then 
				offer1 = 22.5
				thirdimpulsiveflag= 1
			    end if
				
				if impulsive = 0 then
				offer1 = 27.5
				thirdimpulsiveflag = 0 
				end if
			end if

	       if secondimpulsiveflag = 0 then
				if impulsive = 1 then 
				offer1 = 32.5
				thirdimpulsiveflag = 1
			    end if
				
				if impulsive = 0 then
				offer1 = 37.5
				thirdimpulsiveflag = 0 
				end if
		   end if
	    end if
	end if


	if trialn = 5 then
		if firstimpulsiveflag = 1 then
			if secondimpulsiveflag = 1 then
				if thirdimpulsiveflag = 1 then
					if impulsive = 1 then 
					offer1 = 1
				    end if
				
					if impulsive = 0 then
					offer1 = 4
					end if
                end if
			
				if thirdimpulsiveflag = 0 then
					if impulsive = 1 then 
					offer1 = 6
				    end if
				
					if impulsive = 0 then
					offer1 = 9
					end if					
				end if
			end if

	       if secondimpulsiveflag = 0 then
				if thirdimpulsiveflag = 1 then
					if impulsive = 1 then 
					offer1 = 11
				    end if
				
					if impulsive = 0 then
					offer1 = 14
					end if
				end if
				
				if thirdimpulsiveflag = 0 then
					if impulsive = 1 then 
					offer1 = 16
				    end if
				
					if impulsive = 0 then
					offer1 = 19
					end if					
				end if
			end if
		end if
		
		if firstimpulsiveflag = 0 then
			if secondimpulsiveflag = 1 then
				if thirdimpulsiveflag = 1 then
					if impulsive = 1 then 
					offer1 = 21
				    end if
				
					if impulsive = 0 then
					offer1 = 24
					end if
                end if
			
				if thirdimpulsiveflag = 0 then
					if impulsive = 1 then 
					offer1 = 26
				    end if
				
					if impulsive = 0 then
					offer1 = 29
					end if					
				end if
			end if
	       
		   if secondimpulsiveflag = 0 then
				if thirdimpulsiveflag = 1 then
					if impulsive = 1 then 
					offer1 = 31
				    end if
				
					if impulsive = 0 then
					offer1 = 34
					end if
				end if
				
				if thirdimpulsiveflag = 0 then
					if impulsive = 1 then 
					offer1 = 36
				    end if
				
					if impulsive = 0 then
					offer1 = 39
					end if					
				end if
			end if
		end if
	end if

c.SetAttrib "firstoffer", offer1
	'''''''''''''''''''''''''''''''''''''''''''''
	' InLine - InLine2 BEGIN
	'''''''''''''''''''''''''''''''''''''''''''''
if Choice.ACC = 1 then 
Impulsive = 1
c.SetAttrib "leftimage", "transparent"
c.SetAttrib "rightimage", "opaque"
end if

if choice.ACC = 0 and Choice.rt > 0 then 
Impulsive = 0
c.SetAttrib "leftimage", "opaque"
c.SetAttrib "rightimage", "transparent"
End if

if choice.ACC = 0 and Choice.rt = 0 then 
goto trialend
End if
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